TE/ comp | sem-TI- /CBC&S J@p |[FH-2072
N\

(f’ﬂ g
o % University of Mumbai
b\@ Examinations Summer 2022

Time: 2 hour 30 minutes

2

Q1 Choose the correct option for following qu
20 compulsory and carry equal marks o vk
Marks ) PR s R T A
. Inspectors for a hospital chain with muit;pjzeibga\népé‘ mndSMsgIeg:go\me?f
locations for a cleanliness check of their operating roomis. & s
Option A: | Cluster sampling AT oS b (o D ST

Option B: | Stratified Sampling
Option C: | Quota Sampling
Option D: Snowball Sampling

2. In MLR, the of e coIT officient or R? is called the
Option A: Coefficie rmina ‘ » R T
Option B: | Vari

Option C:_| Cov

OptionD: | C

3 n )] 25 is
Option A:
tion B:;
Option C
Option

4. t at
Option A: e SR
Option B: Median
Option C: Mode : Y
Onti B W <

D method, the upper limit of one class is the the next

Option A: (5
Option B: _

Option

Option D

6 o S I ther ficients are byx = 0.5 and b e of coefficient
A of correldl
Option A: | 039
Option B: | 0.48
Option C: | 0.23
Option D: | 0.25

ndent variable
0 S it
: some unit istan
OptionC: | Cannot be in Kilometers

E T % Hn regression analysis, if the independent variable is measured in Kilometers, the
] 4 .
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Option D:_| Can be any units
Ng":?'}
8. A linear regression (LR) analysis produces the equation X‘;SO
that: ZTEES
Option A: | When Y = 04,X=3 5
Option B: | When Y = 0,X=3 A2

Option C: WhenX=3,Y= 0.4

Option D: When X=0,Y=3

.

5 iFall the dots of a scatter diagram lic on =+ Siraight line falling from [eft botion
s :

to the right upper corner, the correlationfi:“s:bélfed}
Option A: Zero correlation E55 FH

M_Wposiﬁve correlation 7>
Option 8% wﬁﬁconelaﬁon S

Option D: | Perfect positive correlation 20 Ry g : 5 &
10. A point estimator is defined
Option A: | A sin le value fro e sam
Option B: | Average of a valu
tion C: | Average o ion v =
tonD: | A singl est e Funl latic
Q2 Solv hree rks each
20 '
Marks
aire
A g a
tion
Town A: Females were 407, tota cof e
B drinkers were 20%. N
Town B: Males were 55%, male non coffee drinkers were 30% and female coffee
re 15% :
e data into a table format
Expl following PointEétimation Properties with example
€ “onsistency
biasedness
03 S ¢ uestions out of Three rks each
20
Marks = A
What is Hypo
A i) i
i1) i
Perform simple linear regressio ne slope andiintercept
o 1% 1 2 3 a 5
Y# 8 4 |5 Z 2 0
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13.27, for.a

What is diagrammatic representation of data? Explain its advan

ages.

The data with regard to the output of gram and cost of seed an
eight farmers’ fields, are as given below: S
Sr. Cost of produce (Y) Cost of Seed (X1) Cost of Labour (X2)
No. (Rs./l:ectnre) (Rs-lhamro) (Rs./uectare)
1 190 50 10
2 50 30 10
3 300 150 15
C 4 100 50 15
5 150 . 40 20
6 90 40 10
7 300 100 35
8 120 60 14
a) Fitaregressiony=a+ RSB O T T, <
Find the coefficient of multiple dete qmination (R?). - ERIT BT
Also test the significa essi « the appropriate Table value, F =

The manufacturer of a certain rﬁakeiof élec}ﬁc bulbs claims

llowing values

that his bulbs have a mean
\onths with standard deviation of 5 months. A random sample of 6 such bulbs

E Li 1b in months 24,26,30,20,20,18
Ist facturer’s claim valid at 1% level of significance?(Give
of yriate test statistics at said level are 4.032,3.707 an

om respectively)

o E ' f maximum likelihood with its advantages
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table values
or 5, 6and 7

€S

ngmeeringkeeda.com

3|Page




